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Problem #1 (I pt)
Find the absorbed power for each element of the following: 0 =
1. =3 A and v=8V
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Problem #2 (1.5 pts)

Find R, of the following connection:
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Problem #3 (4.5 pts)
Don’t use MESH, NODAL or SUPERPOSITION to solve the following circuit: €N
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1. find V. by yoltage division rule only A
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Problem #4 (4 pts)
The Mesh Equations of the following Circuit are given by:
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SIS +651,-251;=-V;
SL-251L+351:=0

Find Ry, R;, R; and Ry.
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Problem #5 (5 pts)

Write the NODAL voltage equations for the Jollowing circuit (Don’t solve them; just arrange them to fill
the blanks below.
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Problem #6 (4 pts)
Use Superposition Principle to find i, and iy in the following circuit.




